Math. Department MATH-114
]

Assignment 3: Equations, Inequalities, Functions, Matrices and

Statistics
1) Solve the following equations:
a)dx+3=5x-7 b) T"=> ¢ 3(x-2)=-4x+6)

3a+6 __ 6—7a
d 5 T =3

e)3x2—-2x—-1=0
flx+4)(x-2)=0 g)2x2=>5x
h) (2x—4)2=5 (Use: if A2=c then A=++/c)

2) Rewrite each of the following in inequality notation and graph on
a real number line:
a) [-2,3) b)(-=,3) ¢)[4,+x) d) (-2, 3]

3) Rewrite each of the following in interval notation and graph on a
real number line:
a) 4<x<7 b)x<4 ¢) x = -5

4) Solve and graph:
a) -2x>4 b) -2x+3 <7

5) Determine whether each set specifies a function. If it does, then
state the domain and the range
a) S={(14), (2,3), (3,2), (4,3), (5.4)}
b) K= {(1,4), (1,3), 3,2), (4,3), (5,4)}

6) Find g(1),2g(h), and g(1 + h) for g(x) =16 + 3x — x2

7) Find the domain of the following functions:

a) filx) =3 +x b) f2(x) =V3 +x
1
©) f3() =33 d) falx) =3 +x
8) Determine which of the following functions is even, odd, or
neither

a) filx)=x"+x b)fax)=x*'-3x2 ) fs(x)=x"+3
9) For f(x)=3x2 +1 and g (x)=-2x+3. Find the functions:

a) (f+9)® b) f-9)® o (FgK d) (f/8)Xx)
e) fog(x) f)gof(x) and find their domains.

10) Find a, and b such that 3 (g ;) —4 (g Z) = (_1200 _20)

11) Perform the indicated operation if it's possible:
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4 5 4 5
a)(1 2 —1)(2 —2) b)(z —2)(1 2 —1)

0 1 0 1 )
o H* 3 oa e _1>+<21)
93(5 7 5)-2(1 5 %)

12)If A= ((1) 2) Calculate A2- 3A + 51

(Hint: A2=AA, A3=AAA)
13) Find the inverse of the following matrices:

a4a=(% 3) we=(;

14)Twenty-five army inductees were given a blood test to determine
their blood type. The data setisABABABOOOBABAB BBOAOAOO
OABABAOBAB

a) Construct a frequency distribution for the data

b) Find the percentages for each class

c) Draw the pie graph

d) Draw the bar graph
15) These data represent the record high temperatures in
degrees Fahrenheit (%F) for each of the 50 states.
a) Construct a grouped frequency distribution and a cumulative
frequency distribution for the data using 5 classes.

112 100 127126134118 105 110 109 112 110 118 117 116
18122114 114 165 109 107 112 114 145 118 117 118 122
106 110 116108 116-121 113 120 119 114 104 11-1 120 113
120117 165110118112114 116

b) Draw the histogram, frequency polygon and Ogive for the

above data.

16) for the following data 20, 26, 40, 36, 23, 42, 35, 24, 30, 36

find the Mean, Median, mode, Range, and Midrange.
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